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Assume suitable data if necessary.

ltempt any four questions from the remaining six questions.

Figures to the right indicate full marks.

M.W of ‘A’ = 58
M.W of 'B’ = 28

re by mass.
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i A sample of limestone is found to contain 54-5% CaO (by mass). If this CaO is present
as CaCO; in the limestone, find the content of CaCQ, in the limestone.

sample of solution contains 20% aicohol (ethanol) on volume basis. Find the mass %
a alcohol in the solution. Assume the densities of alcohol and aicohol free liquid (essentially
ater) to be 0-79 kg/L and 1-0 kg/L respectively.
kA mixture of CH, and C,H, has density 1-0 kg/m® at 273 K, and 101-325 KPa pressure.
i Calculate the mol% and weight% of CH, and C,H; in the mixture.

sA mixture of vapour of ‘A’ and ‘B’ at 20 °C and 760 mm Hg contains 0-35 kg of ‘A’ per kg
B of ‘B'. Calculate the partial pressure of ‘A’ in the mixture.

j Soyabean seeds are extracted with n-hexane in batch extractors. The Flaked seeds contain
b 18-6% oil, 69% solids and 12-4% moisture. At the end of extraction process, de-oiled
ja-cake (DOC) is separated from the n-hexane oil mixture. DOC analysis yields 0-8 olil,
& - 87.7% solids and 11-5% moisture. Find the percentage recovery of oil. All percentage

B In particular drying operation, it is necessary to hold the moisture content of feed to a 12
- calciner to 15% (mass) to prevent lumping and sticking. This is accomplished by mixing
of feed having 30% moisture (mass) with a recycle stream of dried Material having 3%
moisture {(mass). The drying operation is shown in figure. What fraction of the dried product
must be recycled ? '
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Also calculate amount of product formed.

> procluok;
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cC .
sample of fuel oil has [, ratio 9:33 (by mass) and contains sulphur to the extent of 10

H

3-3% (mass). The GCV of the fuel is measured to be 41785 kJ/kg at 25 °C. Calculate
s NCV at 25 °C. ' ‘ '

L = 2256 kJ/kg.
rite note on Proximate analysis and Ultimate analysis of coal.
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